el W WOl i Vs- A Jidlava . VIJNN S L R RSN

Mathematics A L.K.No. 09 Paper Code No. 5191 | etk
Paper | (Objective) SSC-A-2021 Group Ist GAE N 2
Time Allowed : 20 Minutes SSC (Part-1) e 20 : =
Maximum Marks : 15 Session (2017-19) to (2020 - 22) 15 AF

R

-q’/aufk/:ti'o?biwde_,vz.yj);u:u,}uéz;_;e»_t«iJlm{Qa’Qm_u_réé_J D,C,B, A=zl s i gl
= Kmﬂw..,lz S 94 c_uJ‘J L),/:/ LKL d'_./_é:(u;}bu.l_../'c_ -.g

Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

2 1 2], /
Adj of [0 _1] is equals to : & 4z Adj [1 2] 14

Note :

Bleflelbdeide e
Product of [ x y][_z]] AR — EPPAL. y][_zl] St ()
........................................ [x+2y ] ©) [2x-y] © [x-2y] ®) [2x+y] (4)
Write [x in Exponential form : : cﬁg Ut sl S Tx i (3)
2 o) Mg X ® x @) '

The Conjugate of 5+4i is

P e AW 5 il (4)
5+4i (D) 5-4i (C) -5-4i (B) -5+4i (A)

The relation y = log x implies —— : te— Bty =logx I ()
y'=x O K=y © F=x @ J=z (a
bt el — (‘-" A 4;)1/1(( (6)
10 D e (Q 0 (B 1 (A)
: P o—— s (3+427)(3 -J2) (7)

1 o -1 © -7 (B 7 (4

The logarithm of unity to any base is

e S 7 . T . .t

(3+ﬁ)(3 -E) is equal to

Factors of 3x2- X - 2 are

P g £ - x-.2 (8)
(x-1),(3x+2) (D) (x-1),(3x-2)(C) (x+1),(3x+2) (B) (x+1),(3x-2) (A)

22 . 3
H.CF. of 5x°y" and 20x3y3 is Pl ¥ 20x3y3 2 5x2y2 UM (9)

5y (D) 100y (© 20%° B) 552 (A)

What should be added to complete the square of X vea: P bk d/f S VBV xt+6a iz (10)

16 (D) &° (@ -8 (B) 82 (A)

e It 254 1600 mrbicniks e " alett LT gy e (11)

If the capacity " ¢" of an elevator is at most 1600 pounds then ———- :

c>1600 (D) c<1600 (C) c>1600 (B) <1600 (A)

- Quadrant : 19»U:d/'—£(5;’/(2"3)‘5; (12)
IV D) m (© 1 (B I (4

Point (2,-3) lies in

Mid - point of the points (2,2) and (0,0) is ‘4.—-—-.-!:'55(.'5_(/1:!((2,2) »1(0,0) 56 | (13)
(-1,-1) (D) (0,1) (O (1,0) (B) (1,1) (A)

A Triangle having two sides congruent is called — : % q_Jlkf —_— U j‘?f/ﬂ’“ » Ltﬁw \.,_ﬁ (14)
Isosceles uf-uid:lﬁ (D) Equilateral {Usyi§sl~ (C) Right Angled .s./1246 (B) Scalene {usyii¥ (A)
ugz,f&; S J—f Y L &by L alki (15)

The medians of a Triangle cut each other in the ratio

1:1 (D) 3:1 (€ 2:1 (B) 4:1 (A)
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Mathematics ( Subjective ) o0 AF 0 =

SSC-A-2021 | (&) (°Ls

Al _.‘_dnlt/://.:..p;.f Lzl (66) L U A0 3,2 e Q bl }
RO (.“'h-fﬁq“/&,n_n"v'Zul/,Ulr ¢ de?-c..d)ll 9 Ao g S fo Iyl
* % 7 T d (j_ uU}’(j;

Itis  compulvory to atlempt (6 -+ 6) parts oach from Q.No.2,3and 4. Attem

compulsory. Write same Question Number and Its Part Number as glven In (

Note

Pt any (03) quostions from Part Il while Q.No.9 is
he question paper.

I:“” = 2_\1“ L Make dl.ly,Lﬁn whete necessary, -u_”w’ffmju/ut‘q ] ‘H-_(-l:a-rt- ;;JI:,-H

r-.._-.........--__.......-—___-.....__.-.--_‘.-~—-——

Find the ‘Transpose of the Matrix, [ 5 1 -6 ]

L e —

1 -

Bk o ) 2 U
_ér,j-“u:-'-?J"b"uf "a" m [a+63 b?1]=[-2 ;] /q (ii)

If il 4 = -3 4 [PT] "
6 b-1 6 2 then find "a" and "b ",

LEvaluate 150

ek 23§50 G
Find the value of x and y if : x+iy +1 = 4 < 3i ﬁé‘r}":‘f J y»lx (iv)

Find the value of ' a'; loga() = 0+5

logaG =05 Z_-fr}"‘;.ufJ'a' (v)

Write into Sum or Difference Form. log 2 ;9 & --'f.‘f({/:(.)g J k}/'luf-"f L Z"’ (vi)
Simplify : Nig _é/"f (vii)
NERPE
Find the Conjugate. 9 +J2 —ér)l” u'/..(f( (viii)
Factorize, 8x3 R ..Z.:d/_ (ix)
3
27y
Find the ILC.F. of : 102 xy%2 ', 85x%yz , 187 xyz> -2k He ) 34
y y Yy ="
1 -
Solve the Equation. —:;" X - X X = x + % ..2:‘1)’ S el (i)
Solve for " x ". |2x + 5| =11 -’Z;(Jl"':,fg; "x " (iii)

-ChP(-4,3),Q(-5,-2) 6 VP ) (i)
Determine the Quadrant in which the points P(-4,3),Q(-5,-2) lies.

-.”_;-rr)l’"fz J “e"pl"m" ,u!cf.i_./g;l;u: y = mx+c¢ S x - 2y ==2 =hls (V)
lind the values of " m " and " ¢" by expressing the line x-= 2y =-~2 in the form of
Yy = mx +¢
et b gen £ A(9,2),B(7,2) sz £ b6 (vi)
Find the Distance between Pairs of Points A(9,2),B(7,2)

Define Right Triangle. -é»_gl/:" J bl‘r"::lﬂl,:fl?.(vii)
~ :
it Aasc € ALMN , then find the unknown " x " . _ZEeolanf "x " et 3 AABC S ALMN i (viii)
C
)
60°

0 (2]
A40 BOB

il

i Wb s ¥ i AL 1 U BB el U el L2 Bl L6 @) 440
What will be angle for shortest distance from an outside point to the line ? ) ~'
Define Ratio. -é..el/" J--&‘. (i.i.)
Define Triangular Region. -ij/;i;& E:::
Define Circumcentre, = A ;P'}d_‘s
(P — e
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. - bl i L F i gropd § G £ o L dstn )
Verify that the Triangle having following measures of sides is Right Angled.

a=5m,b=12cm, c=13cm

Construct a Triangle XYZ in which : ' PR b XYZ sl (vi)
mZX = 6.4cm , myz = 2.4cm, mLy = 90°
Define Orthocentre. -éu’/’." 0’ f/(f»’ (vii)

P 2%ty O b e ot A ol AD Ut ABC adbE il dls (v
If the given Triangle ABC is equilateral Triangle , and AD is bisector of angle A,
then find the values of unknowns x°, y0 and z°.

A
o| o
X[y
o
zZ
B C
D
Find the value of "x" in given figure. _g r,lv,_./_'s.'J W u:dc‘?'d) (ix)
4 cm X
3cm

() Solve the system of linear equations by Cramer's Rule. S sududs £ AL ) s/

2x =2y = 4
3x +2y = 6
(4) Simplify. (216 )2/3x (25)1/2 _Ié/}'f ()
(oa) /2
(4) Solve by the Logarithm. (1-23)(0- 6975) S e d 8D 6Ly
(0-0075)(1278)
) P N 1 1Y § s=aw® JiGs
, el § (x=1) , (x-1) -
2
It x=2+{3 ,find the value of (x-}c—) . (x‘}c_)
 (4) Factorize. 8x°- 125y°- 60x%y + 150xy> JZESE Uy 74y
(4) K 2x2+ Kx-12 u x> +x-(2K+2) UM Pl (x+4) 2L A0 K ()
For what value of K, is (x+4) the H.CF. of x2+x-(2K+2) and 2x% + Kx-12 ?
(4) Solve the Equation. Xy v X :{: 2 L& L () 84
3x-6 X =2 .
@) oS By f L1l Ebtuxyz &L (L)

Construct the Triangle xyz and draw its three Medians.
mxy = 4.5cm 1 myz =3.4cm ; mzx = 5.6cm
-Ifn.l-fli"(}':l/c.u:/éb,’ﬁ L 09 I 8’: Z bt L s Lf( LI A é::f.l‘ 94 1y
Prove that any point on the Right Bisector of a line segment is equidistant from its end points.
OR W
—ebn Lol o Utk E1 48 g ot £l ¢ Lt

Prove that any point on the Bisector of an angle is equidistant from its arms.
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. ;¥
Maximum Marks : 15 Session (2017-19) to (2020 - 22) 15 A

-q:/;uf}):li/n}’:iw&'b‘L..,lﬁuuLu‘:u;}bé"__,z_pLleﬁ{Q(dlg_u_‘:zJ:é_, D,C,B,A _-,!,lj{;,p,;pév'lyﬁ HCTY
= "nn“.b'-‘.,,'ﬁ A .-,/:"J L 4'/.2, 1 S .é:(u:}',v bic .{'

i Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that questicn

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

[ A of[o i]is equals to . e Ads [é?] 1 0

| [12 ‘;] (D) [})ﬂ @ [ﬁ, i] (B) [}) ﬂ (4) (1)

f’roduct of [ x y][21]15 equal to —: ‘" { el [ % y][_21] Fds @)
[x+2y] O [2x-y] © [x-2y] B) [2x+y] (&)

“""‘e /% with Radica Sign : J_ (D) & ©) e @ Y& W d‘&rmﬁh. (3)

.._1/2 _=1/2 4
25 _i _i i i A = = L ()
| (16) Sy 5 5 O -3 @ 5 6 VoY o (Tg)

The value of log (—%) is : ’.'—;“-;"( log (%) &

!

!

1

¥ og p

i logq - logp (D) logp +logq (B) logp -logq (A)

:%logp-logq is same as ——: & B ! ———= logp -logq: (6)

;i logq - logp (D) —2 () log(p-q) (B) log (T) (A)

1 log q

LR 2 .2

a -b 2 2 =

2 sequaltor  2-b (D) a+b (Q (a+b) (B) (a-b)2 (o) ., EoB ()
a+b a+b

2
Factors of 5x™ - 17xy - ‘12y2 are :

o del71£5x2-17x) 1242 (8)
(5x-4y),(x+3y) (D) (x-4y),(5x+3y) (O) (x-4y),(x+3y) (B) (x+4dy),(5x+3y) (A)
. HCF of x2-5x+6 and xz-x-6 is

bb(x -x -6 u x2-5x +6i (9)
x-2 (D) x-4 (Q x+2 (B) x-3 (A)

HCF. of a® - b2 and 2°- b is : Poefierao b’ w22 (1)

a?-ab+ b (D) 2+ab+b% (C) a+b (B) a-b (a)

D e by C;l: 4

L wabin 3 x bebiioe vy £ w.85" 2 5 (15)

1
I
]
1
1
!
]
!
! A point equidistant from the end points of a line segment is on its
i

Median k-5 (D) Perpendicular 1 (C) Right Bisector —i#tsf (B) Bisector

a

—3

l If 'x'is no larger than 10 , then CIelue. 1024 xt N (1) 3
1 a
i x210 (O x<10 (O x<10 (B) x>8 (A) d
S

Point (2,-3) lies in Quadrant : § ‘g,j & £_d,>‘ (2,-3)& (12) ‘I
IV (D) MW (© I (B 1 (A ]

Mid Point of the Points (-2,2) and (2,-2) is ‘;ﬁdl_/,,((zl-z)”g (-2,2)16: (13) :
(1,1) (©) (0,0) (© (-2,2) (B) (2,2) (a)

1

Pl o el i S B Lt £ et g (1g) !

' : Congruent Triangles can be made by joining the mid - points of the sides of a Triangle : :
1

2 D)5 © 4 (B 3 (4

)

;)

;I

z\

1

a

F]

—et (A)

--------- SR 572 SR e
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(2017-2019) to (2020-2022) /¥ 12 - /oo s

General Mathematics ( Subjective) | S.S.C.(Part-1)| SSC-A-2021 (éw’)U‘_L,/Jﬁ

( Group II ;;;/f) 60 /J{ 22:10 &

-u)[)"_,u'rbf;dfc.u‘r»yf.-cd,ut)}j..w/‘fédﬂ (6-- G)LU”’/’LU: 4,53 « Z/V"’d’u"“’ é "‘u §)
-r‘_L/J/:/.J'yfiJ Slarlialr u'r&u(é iz
Note: It is compulsory to attempt (6 —6) parts each from Q.No.2,3 and 4 and attempt any (03) questions
from Part II. Write same Question No. and its Part No. as given in the question paper.
36 =2x18 | Make diagram where necessary. -/ hu’:fnduﬂulﬁ :_(‘Part I) (.J“L-"f o
S g = :
Express 48%% as Decimal. -é&li&:/w‘ ' 48—3-% () 24

Rs.150/-, Rs.275/- 25 =d 2PLT o gy § A ()
Find the Ratio of First Quantity to the Second Quantity in its Lowest Form. Rs.150/- , Rs. 275/
If a:b=2:3 find the Ratio 6a: 2b . “Zp 62 2b Jratb=2:3 i)
Ee T e L enaf Ll Lrmd L L0 72 /- (iv)
| Find the Ratio of Rs.72/- for 24 to Rupees 4 each.
aiad = 480/ &« & = 3% G Zpesjed )
, Profit = 3%
Lol = 260/ L« 2o = 5% B e d (vi)
Find the SP when MP = Rs.2760/- , Discount = 5 %
 Find the CP, when SP = 851/, Loss = 8 % wsyjed = 851/ 4 ol = 8 % G 2l i d (vid
b B e S0 12% L Lol 4 &5 52000/~ o)
Find the Profit on Rs.54000/- for one year at 12 % per annum.
| (K0 4536 = 354l B G2 (M Becie Fitde s 2.1 2Kt (i)
 Rate of Tea in Pakistan is Rs.2.1 per pound. Find the rate Per Kilogram when 1 Pound = 0 .4536 Kg

3] 9 15 i . i 3] 915 ( £ iy
Simplify N125Xy"" and give answer in Exponential Form. -é‘,‘ﬂufgﬁ(,r Vad iz 2547 £ N125x7y M 37U

 Find the SP when CP = Rs. 480/-

3\3 3
27 r
Simplify ( z7 TS ) and express with Positive Indices. -cigu.' Yo d b 2 sl é/‘j e ( x§ ) (i)
8a Sa
Write down the value of log 6+ 304. SN log 6 + 304 (i)
Solve, 2log5 +log8— L log 4 ZS W)

zf(k' A & L S5 nsnd a2 2 415 15,00,000/- us! a3z L ir;u_.f”_f PG
If a Deceased left a property of worth Rs.15,00,000/- Workout the property , if he left behind a widow.

Calculate the Zakat on Gold amounting Rs. 15,00,000/- _fr}"‘dr( J i /d_rd:.JLLu 15,00,000/- (vi)

gl SK 3 16% LSSk 4 Py 3500/-...’&?4.{ T (vii)
The price of a Bicycle is Rs. 3500/~ if 16 % Sales Tax is charged , then calculate the amount of

Sales Tax.
1

e ezl &S U1 Ly o 200/ S b6 i 6 Utz 6 iy
Khalid works 6 day - week. Find his Gross Monthly Wage, if his rate of pay is Rs.200/- per day.
e P ea350000- B SP S o sibige Dusgee (ix)
Calculate the Ushr on a wheat crop amounting to Rs. 3,50,000/- produced by Artificial Resources.
g f/ Flsew 2 1,-3,5,-7,—ag kbt (i) 44U

Find the term indicated the sequence 1,-3,5,-7,— a

9
Find the next four terms in 1,3,7,15,31 , =—, cfariz Av (,rgﬂ 1,3,7,15,31, — (ii)
Find the 5th term of G.P. in 4,-12,36, —. c;'afu'{l J 4,-12,36, _au'ofl (i)
Find the G.M. of -2,8. : SR g 22,8 Gy

EF il A K= f2,1,08 B
If A= {-2,1,4 } » then write two Binary Relations in "A ",

PT.0, | !
L el L 3
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Represent on Graph F(-3,7) : -é/;u; {Jlff F(-3,7) (vi)

o
Convert 127 F into oC if OC . _2_( OF- 32) : /TE’J_:J‘_;J' U 0C,v/1270F (vii)

for the Data 3,5,6,8,8,9,10 find Mode. -2 wb £ 3,5,6,8,8,9,10 s (viii)
-fi_f_{f nglu(jl':»uf XxY 7 Y= {2,4,8} ¢ X = {0,3,5} S (ix)

If X = {0,3,5} y Y = {2,4,8} then write two Binary Relations in X x Y.

H_( Part II)E)),J’J
@ 27TL L 136 U7 77 #6787 s, 22400/- LLe ., u8kunT 14 u:J}._gﬁ () 540

7
If the stay of 14 men for 8 days in a hotel costs Rs.22400/-, find the cost
for the stay of 7 men for 13 days.
.oé&Lf:),){.-,E,;@u y n(‘y 2% «fu"'ﬁ na)@ld’_‘,ﬁ 15 % 4 =2l 4 gy A (L)
“) N7s

If 15% Discount on M.P. of a Heater is allowed and still makes a profit

of 2%, if it is sold on M.P. what is profit percentage ?

yév_ﬁ,;.:.uté.u 20,00,000/- ;}u,dLJw J uneiBe 55 nl Ll ;é_v':,_rz_f LI () 64y
) gkl

The inherited property amounting to Rs.20,00,000/- is left by a Deceased .

He left behind a widow and two sons, workout the share of each.

1
I 3 Lrd .,
1) Mﬂglz B 4@(7 Az o (D
! 2 x 10°
‘ 521 x 103x 12
Simplify and write your answer in Scientific Notation. 3 5 102
x

!(4) 0L b L] CLLE S e s 750- Bbnsl LU 6% 2L op &1 1250/- () 740
\  How long would Rs.1250/- have to be deposited at 6 % per year simple .

profit to gain Rs.750/- simple profit.

(4) Find Six A.Ms between 5 and 8. SR 1B 7 sl 815 ()
45 % ¢ Tt 01,50, 000 A A b o5, 25,000 $TSSALL iy 8y
) - S8 rukutad o350 B8 410,000 BB iy

i The total income of a person is Rs.5,25,000/- where as exemption is

Rs.1,50,000/- .Workout the tax payable @4 -5 % alongwith the income tax rate,

if Rs.10,000/- has already been deducted at source as income tax.

) If A={2,3,4},B={3,6,9,12},C={4,6,8,10} A
then verify that AU(BUC) = (AUB)UC S 2k in
(4) Draw the Graph of : = —% —% bl (@ 9!
il § win L0 100 -t (HIE) LI 6587 ¢ il é s (L)
) e

Constructa Cumulative Frequency Polygon ( that is Ogive ) for the given Data .

The table gives the distribution of Weights (Kg) of 100 people :

Weight (Kg) (u:(‘;)lf)u’i" 50 --59 |60 -- 69 |70 -- 7980 -- 8990 -- 991100 -- 109,
Frequency & 15 30 35 15 3 2
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